APPENOIX 30
YOUNG WOMEN
1983 KEY VARIABLE CREATIONS

IF RC9428.)A=NA THEN CALL WIMP;

s% TGTAL FAMILY INCOME - INCLUDES ALL FAMILY MEMBERS, PARTNER %/
HUSPART=R(3043.)3 ’ ' '
ESR=R(9428.)3 E
RES,RWAGE »RBUS s RUNEM,RSUS,RSS,RVET,RCCM4RSSE,RDIS = NAj
HPHAGE yHPBUS s HPUNEM HPSUB s HPSS s APVET ,HPCOM, HPSSD, HPDIS = NAj ,
FARMINC s RENTINC, INTT,FCODS,AFDC,SSI,ALIMONY,CHLOSUP,OTHRINC, FAM = NA;
FAMINC = NA; : :
x RESPONDENT INCOME COMPONENTS */
IF ESR=1 | ESSR=2 ! R(8063.)=1 ! /R(8501.1>>0 THEN RES=1;
 ELSE RES=0;
IF RES=0 & R(9021.)<0 THEN RWAGE=0;
ELSE IF R(9021.)>=0 THEN RWAGE=R(9021.)3
IF (RC9023.)=NA & CRC9022.>=0 ! R(9009.)=01) I R(5023.3=0
: THEN R5US=03
ELSZ IF R(C9023.)~=NA & R(9023.)%=-1 & R(9023.)7=-2
: THEN R3US=R(9023.)3

IF R(9026.)=0 - THEN RUNEM=0; -

ELSE IF R(C9027.)>0 & R(9028.1>0 . THEN RUNEM=R(9027.) % R(3028.)3
IF R(S5023.)=0 ! RUNEM=J ' THEN RSUE=93 -

ELSE IF R(9030.)>0 & R(S031.3>0 THEN RSUS=R(9030.) * R(9031.)5
IF k(5032.)=0 ' THEN RSS=33

ELSE IF R(3033.)>0 & R(9034.3>0 THEN RSS=R(3033.) % R(9034.)3
IF R(9035.>=0 THEN RVET=05 ~

ELSE IF R(3036.)>0 THEN RVET=R(35036.);
IF R(S027.)5=0 ' THEN RCOM=03

ELSE IF R(9038.)>0 ' THEN RCOM=R(3038.)3
IF R(903%.0=0 THEN RSSD=03

ELSE IF R(S0%40.0>0 THEN RSSD=R(3040.D3
IF k(3041.15=0 THEN RDIS=03 .

ELSE IF R(3042.)0>0 THEN RDIS=R(9042.);

% HUS3AND OR PARTNZR INCOME COMPONENTS =/

IF HUSPARTA=1 & R(9044.)=NA . THEN HPWAGE=03

ELSE IF R(30%44.)>=0 © THEN HPWAGE=R(S044.);
IF (RCS046.)=NA & (HUSPART~=1 | R(9045.3=0 ! R(3009.)=022 1!
R(2046.2=0 THEN HPBUS=03;
ZLSE IF R(9046.)7=NA & R(3046.)%=-1 & R(9046.0%=-2

THEN HPBUS=R(S5046.)3

IF R(9049.)=0 ! HUSPART#*=1 THEN HPUNEM=03

ELSE IF R(9050.)>0 & R(5051.5>0 THEN HPUNEM=R(9050.) * R(3051.D:
IF R(9052.)=0 ! HPUMEM=0 ! HUSPART#=1 THEN HP3SUB=03

ELSE IF R(S9053.)>0 & R(S054.)>0 - THEN HPSUB=R(3053.) % R(5054.);
IF R(9055.)=0 | HUSPART#=1 ~ THEN HPSS=03

ELSE IF ®(5056.)>0 & R(3057.3>0 ~ THEN HPSS=R(3056.) = RC(9057.D3
IF R(9053.)=0 | AUSPART~=1 THEN HPVET=0;

ELSE IF R(9059.)>0 THEN HPVET=R(9059.)3
IF R(9060.1>=0 1| HUSPART"=1 THEN HPCOM=03

€LSE IF R(90€1.2>0 THEZN HPCOM=R(9C61.)3
IF R(9062.)=0 ! HUSPART#=1 THEN HdPSSD=0;

gELSE IF R(SG63.)>0 THEN HPSSD=R(9063.)3
IF R(S064.)=0 ! HUSPART~=1 THEN HPDIS=0;

ELSE IF R(S9065.3>0 THEN HPDIS=R(9065.):
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% RESPONDENT OR HUSBAND/PARTNER INCGME COMPONENTS =/
IF (RC9067T.)=NA & (R(9066.)=0 ! RC9005.)=0)) 1
RC9067.)=0 THEN FARMINC=D:
ELSE IF RC9067T.)A=NA & R(C9067.D%==1 & R(C906T7.)~A==2
: . ' THEN FARMINC=R(3067.);
IF (RC90T1.)=NA & (RC9070.)=0 ! R(3012.2=0)) !
RC90T1.)=0 B THEN RE NTTNC 03
ELSE IF R(C3071.)4=NA a R(9071,)4=-1 & R(3071.)4=

THEN R:NTINC R(S9071.);

IF RC3074.)=0 _ ' THEN INTT=0;

ELSE IF R(3075.)>0 : THEN INTT=R(9075.):
IF R(5076.)=0 , . THEN FOODS=0;

ELSE IF R(C3077.)>0 & R(3SC78.)>0 THEN FO3DS=R(C9077) % R(SG78.):
IF R(9075.)=0 . , ) THEN AFDC=03:

ELSE IF R(S9080.)>0 & R(9081.)>0 THEN AFDC=R(9080.) = R(S081.);
IF R(9082.)=C . THEN S31I=0;

ELSE IF R(9083.)>0 & R(9084.)>0 THEN SSI=R(9083.) 3% R(9034.);
IF R(9085.)=0 THEN ALIMONY=G3;

ELSE IF R(%086.)>0 . THEN ALIMONY=R(S085.);
IF R(9087.2=0 : THEN CALDSUP=03;

ELSEZ IF R(90S53.)>0 THEN CHLDSUP=R(S088.);
IF R(S5089.)=0 E THEN GTHRINC=0;

ELSE IF R(90%0.)>0 THEN OTHRINC= 2(9090 H

% TOTAL INCOME OF ALL FAMILY MEMBERS OTHER THAN = -

/% RESPONDENT, HUSSAND/PARTNERs AND CHILDREN =/

/% UNDER 14 : %/
I7 R(5092.)=1 & R($093.)<0 ‘THEN- FAM=03

ELSE IF R(30S52.)=0 THEN D03 ~

A IF R(9093.)=0 K THEN FAM=0;

ELSZ IF R(9033.)=1 THEN FAM=300}

ELSE IF R(9093.)=2 ' THEN FANMN=15003;

ELSE IF R(9993.)=3 THEN FAM=2500;

ELSE IF R(9093.)=4 THEN FAM=350603;

ELSE IF R(9093.)=5 THEN FAM=4500;

ZLSE IF R(9093.)=6 THEN FAM=5500;

ELSE IF R(9093.)=7 THEN FAM=57503

ELSE IF R(9093.)=8 . THEN FAM=37503;

ELSE IF R(S993.)=9 © THEN FAM=12500;

ELSE IF R(C9093.)=10 THEN FAM=20000C;

ELSE IF R(C3093.)=11 THEN FAM=25000;

SLSE IF R(9093.)=DK : THEN FAM=NAS;

END;

IF RWAGEA=NA & RBUS”A=NA & RUNEMA=NA & R3UB~=NA & RSS~=NA &
RVET*=NA & RCOMA=NA & RSS5D0*=NA & RIISA=NA & HPWAGEA=NA &
HPBUS”=NA & HPUNEMA=NA & HPSUBA=NA & HPSSA=NA £ HPVETA=NA €
HPCOMA=NA & HPSSD”A=NA & HPDIS”A=NA & FARMINCA=NA & RENTINCA=NA &
INTT~=NA & FJODSA=NA & AFDCA=NA & SSI~=NA & ALIMONY~A=NA &
CHLDSUPA=NA & OTHRINCA=NA & FAM~=NA

THEN FAMINC=RWAGE + RBUS + RUNEM + RSU3 + RSS +
RVET + RCOM + RSSO + RDIS + HPWAGE +
HPBUS + HPUNEM + HPSUB + HPSS + HPVET +
APCCM + HPSSD + HPOIS + FARMINC + RENTINC +
INTT + FOODS + AFGT + SSI + ALIMDNY +
CHLOSUP + OTHRINC + FaM;
LSE FAMINC=NA;

m




M

U W

; -

/% TOTAL FAMILY AS3ETS EXCLUDING CAR =/
/% dUS3AND OR PARTNZIR INCLUOED =/
ESR=R(G5428.D3
HUSPART,C=03
ASSET,HOUSE,PROPDEST,IFARM,ISUS,yIREAL=NA;
SAVE,REALDZBT»30ND,STOCTKyLOAN,DZBT=NA;
IF ESR>=0 & ESRS=8 THEN OC;
IF R(3043.2=1 THEN HUSPART=1;
IF R(8S535.2>=0 R(8536.)0>=0 THEN PROPDEST=R(8995.) + R(3933&.J;
IF R(3955.)>=NA R{3934.>>=0 THEN PROPDEBT=R(89:2.);
IF R(3992.0>=0 R(8996.)=NA THEHN PRS- LEST=R(ES95.)3
IFf R(8995.0=-1 R(3392.)=-1 THZN PROPDZ3T=NAj
IF R€2993.)=0 & R(E8%94.)<-1 & R(EGSS5.)<-1 &
R(8966.0<~-1 THEN HOUSE=(0;
ELSE IF R(8994.)>-1 & PROPDZI2TA=NA
THEN HOUSE=R(39S94.) - PROPDEET;
/% HCUSE VALUZ INCLUDED IN FARM =
IF RC(9C07.)=1 & R(8994.)<=R(500h.) & PRUOPDEBTC=R(9008.) &
R(S5006.)>-1 & R(3008.)>-1 THEN HIUSZ=03;

- 1Y

IF HOUSEA=NA THEN ASSZT=H{USE:
ELSE C=13
IF (R(9003.)=0 1 R(9066.)=0) & R(3006.1<-1 &
R(90C8.)<K-1 THEN IFARM=03;

ELSE IF R(300%5.)>-1 & R(30054>>-1 h
THEN IFARM=R{S006.) - R(°008.): -
IF IFARMA=NA THEN ASSET=ASSET + IFARM;
ELSE C=C + 1; . .
IF (P(9009.)=0 1 R(3022.)=0 & (R(3045.)=0 | HUSPART*=1)) %
R(S010.72<-1 & r(9011.5<-1 :
THEN IBUS=0;
ELSE IF R(3010.)>-1 & R(9911.)0>-1
THEN IBUS=R(9010.) - R(9011l.)3
IF IBUS”=NA THEZN ASSZT=ASSET + IBUSS
gLSE C=C + 13
IF R(C9014.)2>=0
IF R(3014.)=NA
IF RC(3014.2>=0

R(9015.)>=0 THEN REALDEBT=R(9014.) + RC3C15.);
RCS015.)>=0 THEN REALDEST=R(9015.);
RC5015.)=NA THEN KEALDEBT=R(9014.);
IF R(3014.)=-1 1 RC9615.>=-1 THEN REALDEST=NA;
IF (RC9012.)=0 ! R(S070.)=0) & R(9013.)<-1 & R(9014.)<-1 &
R(9015.)<-1 THEN IREAL=0;
ELSE IF R(9013.)>-1 & REALDESTA=NA
THEN IREAL=R(9013.) - REALDEBT;

IF IREAL ~=NA THEN ASSET=ASSET + IREAL;

ELSE C=C + 13
IF (RC8397.)>=0 ! R(9074.)>=0) & R(8998.)<~1

: THEN SAVE=0;

R(8958.)>-1 THEN SAVE=R(8998.);
A THEN ASSET=ASSET + SAVE:

[ LI S X X

ZLSE

SAVE~A=N
ELSE C=C + 13

IF (R(B995.)>=0 ! R(S074.3=0) &

IF
If Az

R(9000.><-1 THEN BOND=03
ELSE IF R(9000.>>-1 THEN BOND=R(9000.)3
IF S3NDA=NA THEN ASSEZT=ASSET + B30OND:

ELSE C=C + 1;




IF (R(9001.0=0 !
R(9002.)<-1
zLStE IF
IF STOCK~=NA
ELSE C=C + 1;

R(S002.5>-1

R(9074.>=0) &

THEN STCCK=03
THEN STOCK=R(9002.):
THEN ASSET=ASSET + STGCKS

IF R(3003.)=0 & RCS004.)<-1 THEN LCAN=0;

ELSE IF R(9004.)>-1

IF LOAN~=NA
gELsSt C=C + 1;

THEN LOAN=R(CS004.):
(THEN ASSET=ASSET + LOAN:

IF RC9013.)>=0 & R(9019.)<-1 THEN DCST 05

eLSE IF R(3019.)>-1

IF DEST"~=NA
ELSE C=C + 13
1IF C>0

- THEN DE3T=R(9019%.):;
THEN ASSET=ASSET - DE3TS

THEN As; T=NA;

IF ASSETD>NA & ASS'T(-—99999

IF ASSET>S99999
END;

/=H40URLY RATE GF PAY,

HRPB3=NA3
ESRB3=R(9428.);
COW83=R{8021.);
RP83=R(309%9%.);

IF ESRS3 >=1 & ESR83 <=7 & (COW82=1
E(RPE3A=NA & RPB83%=-1) & TURPE3A=NA THEN GO ;
IF TURP83=1 THZIN HRPSE3 =

ELSE IF TURP32= 2

ELSE IF USHRS “=NA & TURP33 >=3 &

TURP83=R(3098.);
USHRS=R(3806%.)

THEN ASSET=-999355;
THEN ASSET=999999;

1983y CURRENT SR LAST JGSB %=/

! COW83=2 ! .-

COW33>=7)"
s

RPE3

TURP83 =7 THEN HRPS83=NA;

TURPB3 <=6 THEN DJ;

IF TURP53=3 THEN HARPB3= RPE3 / (USHRS % .01);
ELSE IF TURP33=4 THEN HRPE3= RPE3 / (USHRS % .02):
ELSE IF TURP83=5 THEN HRP33= RP83 / (USHRS % .0433);
ELSE IF TURP53=6 THEN HRPS3= RPS3 / (USHRS % .52)3
HRP33=FLOGR(HRP83 +.5); o
END;
ENDY

IFr HRPB3<1 !

R(9446.)=WEID;
R(S448.)=HWUMP;
R(S451.)=AS35ET;

HRP33>9999 THIN HRP83

=NAS

R(9447.)=WIRK;
R(544S.)=WCLF;
R(39452.)=FAMINC;

R(9450.)=HRP83};




WIMPS PRCC;

A=NAS

WNWy STCPOD=NA;

B5E9CsD9CsF9GyPySyTyVyeWsZ = NA;

WSIDQ LM, LD; LY, NL, SM' SOy SY = NAS

LSMy LSDy LSY, LZM, LZL, LEY=NA;

LPy LTy, LCT, LV=NAS

WIRKy WUMP yWwCLFy NW,y, HH=03
LyFd=13

QWNW=R(8173.);

WKNW=R(S8174.); . .
/% WEEKS BETWEEN INTERVIEWS =

If RC3029.)7=NA & R(8020.)7=NA & R(3028.)~=NA THEMN T= FUN (R(8029.), R(S038.
Hn=1; '

IF R(9402.04=NA & R(9403.0%4=NA & R(9401.)A=NA THEN S= FUN(CR(3402.), R(9403.).

2(2401.)); :
IF SA=NA & T~=NA THEN D0:
WBID = T-S5S+1;
DO K = S 70 T3

ACKDI=0;
END3
END;S -
ELSE GO TO WIMP_END;
HH=.53

/% CURRENTLY EMPLOYED =
I7 R(5428.)=1 1 R{S428.)=2 THEIN DOC;
IFf R(303%.)4=NA THEN DG;
SM= R(C8085.);
S5= R(3086.);
SY= R(B8034.)5
END3 ’
ELSE IF R(8074.)4=0 THEN DO;
SH= R(5076.);
SL= R{8077.);
SY= R(8075.);
ENDS
ELSZ IF R(8071.)4=NA THEN DO;
SM= R(CB8072.);
S3= R(8073.);
SY= R(8071.);
END3S
IF SY #=NA & SD = NA & SMA=NA & R(CB201.)=SY & R(8202.)= SM-1 & R(8203.)=NA
THEN 0033
S9=1;
STOPD(C1)>=30;
END3S ’
IF SY>0 THEN OC;
IF SY < 82 THEN P=3;
ELSE IF SM > 0 THEN P= FUN (SM,SD,SY):
IF P > 0 & T >=P THEN DC K= P T0 T3
ACKD=13
END3
IF R(E173.) ~=0 THEN DG3
I R(3174.) ~= NA THEN
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BE=1;
IF P~=NA THEN V= FLOOR ((T-P-R(8174.)+1) /2+P):
. ELSE V= T-R(5174.);
IF PA=NA & T-P+1 < R(B174.) THEN GO TC WIMP_END;
OO X =V 7O T WHILE(R(8174.) >=8E);
IF R(C8175.)>0 THEN DO;
IF R(8175.)=5 THEN A(K)=4;
: ELSE AlK)=5;
END;
ELSE DO
WUMP, WCLF=NA3
ACKD=23
END;
B3=38+1;
END;
END3
SLSE DO
NWysWORK=NAS

IF P > 0 & T >=P THEN 0O K= P TO T;
ACK) = 33
END; /% MM %

IF RCE175.) >0 THEN DO T
IF R(8175.) =5 THEN WUMP=NA3
ELSE HCLF=NAj
END
ELSE WOLF, WUMP=NAjS
END; '
END;
ENGS
/% CONCURREINT JG3-CURRENTLY EMPLOYED %/
IF R(Blo2.)~=NA THEN DO; )
IF R(3162.)<82 THEN D=S3
ELSZ IF R(8152.)7=NA THEN D= FUNCR(B163.), R(8164.),
IF © >0 & T >=0 THEN CC K= & TC T3
IF ACK)=0 THEN A(K)=1;
END;
EWND;
ENDS
¥ NOT CURRENTLY EMPLOYED =/ '
ELSE IF R(9428.) >=3 & R(9428.) <=8 THEN DO
/% wGLF, WUMP, SINCE LAST WORK 2 CONSECUTIVE WEEKS %/
IF R(8G663.)=1 THEN DG;
LM=R(3061.);
LO=R(EN62.);
LY=R(8060.);
cND; ‘
IF LM>0 & LY>0 THEN C= FUN (LM,LC,LY);
IF C=NA & R(806S4.3>0 THEN C= T- R(C20&&4.)+1;

R(3162.));

IF R(3064.)4=NA & R(B064.)= R(E065.) & CA=NA & CA=T - R(80584.)+1

THEN WlL= T-C+1;
ELSE WL= R(8055.)%
IF CA=NA THEN 003

IF WL > 0 & R(3064.)72=NA & ABS(T-C-R(8064.))>2 & WLA= T-C+1 THEN WL=

IF C < S THEN C=S;
W=13




-/

IF T >=C THEN 20 K=C TG T3
IF WL >= 0 THEN DG .
IF WL >=W THEIN A(K)=43
ELSE A(K)=5;
W=W+1;
END;
ELSE DO3
WUMP ¢ WOLF=NA,
ACKD>=23 :
END;
END
END; :
/% WUMP,LWCLF SINCZ LAST INTERVIEW %/
I7 R(8063.)~=1 TH:EN D3;
IF R(8501.)=NA THEN DO
WORKy WOLFy NW=NAS

IF R(8502.)7=0 & R(3303.)=NA THEN WUMP=NA};
ELSE IFf R(8503.) >0 THEN DO K= T TO S BY

IF L <= R(385C3.) THEN A(KD)=4%;
ELSE A(KD=3;
L=L+1;
ENDS
END;
ELSE DO K= S TO T3
IFf FW <= R(8501i.) THEN DOJ;
ACK)=13
FW= FW+1;
END;
ELSE DO

IF R(3502.)=0 ! R(8503.) >0 THEN DO;

IF L <= R(E503.) THEN A(K)=43
ELSE A(K)=53

L=L+13

END;

ELSE RC;
WUMP s WOLF=NAS
ACKDI=2;

END3S

END;
END3
ENDS

/% NOT CURRENTLY EMPLOYED = LAST JOB- THIS IS

IF R(3084.)~=NA THEN DO;
LSM=R(82385.)3

LSD=R(8086.);

LSY=R(3084.);

END;

ELSE IF RCEQT4.)*=0 THEN DO
L3M= R(B076.)3

LSS= R(8077.);

LSY= R(8975.):

SND3

=13




ELSZ IFf R(3071.)7=NA THEN 00
LSM=R(8072.);

LSD=R(CEDT3.)
LSY=R(8071.D;

cinbs :

IF R(S8139%.)= NA & x(8060 >A=NA THEN DG
LEM=R(80861.); B
LED=R(3062.):

LEY=R({(3060.);

ENGS i

ELSE IF R(B8139.)~=NA THEN DO;
LEM=R(B140.)

LED=R(8Bl41.);
LEY=R(8132.):

7

END;
IF LSY®=NA & LSD=NA & LSMA=NA & R(8201.)=LSY £ R(8202.)= (LSM=1) & R(3202.)=
' THCN D03
LSD=13
STOPD(1)>=30;
END

IF LSY >0 & LEY >0 THEN DO;
IF LSY < 82 THEN LP=S; o
ELSE IF LSM >0 THEN LP= FUNCLSM, LSG, LSY);
IF LEY < 82 THEN LT=HA}S
ELSE IF LEM >0 THEN LT= FUNCLEM, LED, LEY):
IF LP >0 %2 LT >= LP THEN DG K= LP TO LT:
ACK)=1; '
END;.
IF R{S173.) ~=0 THEN DO}
IF R(8174.) ~=NA THEN DO
35=13
IF LPA=NA THEN LV= FLGOR CCLT-LP-R(B174.)+1) /7+LP>,
ELSE LV= LT-R(8174.); '
IF LPA=NA & LT-LP +1 < R(8174.) TP EN GO TO WIMP_END;
GO0 K= LY TO LT WHILE CR(S174.) >= £2);
IF R(2175.) >0 THEN DU
IF R(8175.)=5 THZIN ACK)=4;
: ELSE ACKD=5;
END;
ELSE DO
WUMP, WGLF=NA;
ACK)=2;
END;
85=88+1;

ZND3 : -
ELSE D0
NH, WORK=NA;
IF LP >0 & LT >=LP THEN DO X= LP TO LT3
ACK)=33
END;




IF R(B175.) >0 TH=IN DG;
IF RCB8175.)=5 THEN WUMP=NAL3S
. ELSE WCLF=NA;
END;
ELSE WCILF, WUMP=NAj
ENCS .
ENDS
END 3 "
/%=CONCURRENT JC2- NOT CURRENTLYiENRULL
I7 R(8182.2%= NA THIN D0O; '
IF R(3162.) < 82 THEN LD=S;
ELSE IF R(S163.0%=NA THzN LD= FUN (R(B183.)y RCB164.)y R(B1E2.))3
IF R(C3165.0> 1 THEN DO3 ¢
IF R{815%55.) < B2 -THEN LCT=NA; |,
ELSE IF R(C3166.)2=NA THEN LCT= FUN (R(81650>, R(8157.)y R(81635.0);
END; .
ELSE LCT= LT;
IF LD >0 & LCT >= LD THEN DC K= LD TO LCT;
IF ACK)=0 THEN ACK)=1; :
END;
END3S
END3S
/% J0B3 HISTGRY ==/ i
/% JO3S S969T9y8y WERE DRCOPPEZD SINCE ALL CAS=S WERE NA %
J=1; :
DC I= 133 TO 244 3Y 37,
CXCJI=X (I+20,; WNW(J)=X (I+21)5 REASIONCGII= X (I+22): ALTCJI=X (I+23):
MONCJS= X (I+30)5 DAY(JI)= X C(I+21); YEAR(CJI= X (I+29): SWNCJI=X (I+3%):
SUMP(JI=X (ZI+433); STARMCJII=X (I+112; STARDCIDI=X (I+12); STARY(JIDI=X (I+19):
STIPM(JI=X (I+14); IF STOPDC(JI=NA THEN 3TOPD(JX=X (I+15); :
STEPY(Jd)=X (I+13); '
WEEK(JI=13
SCK(JI)=X (I+23);
J=J+1;
ENDS
00 J= 1 T0 4;
EyFsG=NA;
IF STOPY(J)=-1 THEN DJ;
STGPM(J)=R(802%.);
STCPLCJI)=R(8030.)
STGPY(JI)=R(8028.);
NG
7 STARY(JI”=NA | STOPY(J)A=NA THEN DZ;
IF STARY(J) >0 THEN 23;
IF STARY(J) < 32 THEN E=S:
ELSE IF STARMCJI) >C THEN E= FUN CSTARM(CJ), STARD(J)s STARYCJID:
END .
IF STCPMCJ) >0 & STIPY(J) >0 THEN F= FUN (STOPMCJ), STOPDCJ), STCPYC(JDD:
IF STARM(CJIIN=NA & STOPY(J+122=NA & STCPMCJ+1)A=NA £ STARDCJD)=NA & STOPD(J+:
NA & SCK(JI=0 & STARY(J)= STOPY(J+1) & STARM(CJ)= STOPM(J+1)+1 TH=N CO3
€= FUNCSTARM(JIDy1, STARY(JIDS
STCPOCJ+1)=30;
END
IF 220 & F >=E & WDORK “=NA THEN DO K= £ TQO F
IF 4CK)=0 ! ACK)=3 THEN A(KD)=1l3
ENDG s
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ELSE DOG;

IF STARY(CJ) >0 THEN IF STARM(JIDID>O THEN &= FUN
: ELSE E= FU!
ELSE £=S;
IF STGPYCJ) >0 THEN IF STIPM(JD>G THEN F= FUN
‘ ~ ELSEZ F= FUN
i ELSE F=T;
IF F > T THEN F=T; ,
IF E > 0 & F >=2 THEN D3 X= E T0 F3
IF ACK)=0 THEN ACK)=33
END 3 .
END3

IF CK(J)*A=0 & ALT(JD>~=1 THEN DOG.
IF WNW(JI=NA THEN DU

IF REASONCJD >0 THEN D23

IF REASONCJ)=5 THEN WUMP=NAj

ELSE WELF=NAS

7

END;
ELSE WUMP, WCLF=NA;
WORKyNW=NAS ’

if E >0 & F >=E THEN DO K= E TO F;
ACKD=33

END3

ENO;S

ELSE IF WNW(J) >0 & E>0 & F>=t THEN D03
I=FLOGR (CF = £ = WNWQJI+1) / 2+E);
IF F - E +1 < WNW(CJ) THEN GO TC WIMP_ZND;
ELSZ 00 K= Z TO F WHILE (WNWCJ) >= WEEK(JII;
IF REASONCJ) >0 THEN DOG3 ’
IF REASINCJ) =5 THAzZN D3T3
IF wWUMPA=NA THEN A(KD =43
ELSE ACKD=23
ENDS
ELSE DOs
IF WCLF “~=NA THEN A(KI=53
ELSE ACK)=23
END3
END3
ELSE D03
WOLF,WUMP=NAS
ACKI=23
END;
WESEK(J)= WEZK(JII+13
ENDS
END;
END;S
ENDGS

18

C(STARMCI), STARDCJ)y STARY(JD:
Cly1y STARY(CJDDS

(STOPMCJ), STOPOC(JDy STOPYC(JID!
(12,31, STAPY(JDID:



.
-

IF SCK(CJd=1 1 YEZAR(CJIDA=NA THEN 003

IF MON(CJ)= R(9402.) & YEARCJI=R(3401.) & DAYCJD=NA THEN DAYCJ)=1:

IF YZAR(CJI*=NA THEZN DO;
IF YEARCJD <82 THEN G5=S;
ELSE IF MONCJ) >0 THEN G= FUN CMONCJD, DAYCJD, YEARCJ)D;
ENDS .
U 1 l ] . -‘ 'v
IF EA=NA & SWNCJDA=NA & G=NA THEN 5= E-SWN(J);:
IF SWNCJD= SUMP(J) & EZA=NA & GA=NA & SUMP(J) ~A=NA & SUMP(J)~=
SUMP(J)= E-G3
IF G >0 & E>G THEN DO

11

£E~-G TH=N

IF SWN(J) >0 & ABS (E-G- wa(J)) > 1 & SUMP(JI*= E=G & SUMP(J) >0 THEN

SUMP(J)=NAS
DO K=G6 TO £-13 :
IF SUMP(J) >=0 THEN D3; !
IF SUMP(J) >= U1 THEN D0;
IF WUMP “~= NA THEN A(K)=4;
ELSE ACK)=23
END;
ELSZ DO
IF WGLF ~=NA THEN A(X)=35;
ELSE AC(K)=2:
END;S
END3
ZLSE DO
WUMP, WGLF=NA:
ACK)=2;
END;
Ul=Ul+1;
END;
END;
END;
END;

/% BUT AFTER WORK HISTORY PERIDOS %/
PERM= R(5180.);

PERS= R(8181.);

PERY= R(8179.);

WLK = R(8184.);

IF R(8178.)=1 THEN 0DO;

¥ COMPUTE WEEKS NOT WORKING IN PERIOD SEFORE CURRENT OR LAST J3s

IF R(8180.)=R(94062.) & R(B179.)=3(9401.) & R(8181.) NA THEN P=RD 13

IF R(8179.)*=NA THEN 0O;
IF R(3179.) < 82 THEN 5=S;

ELSE IF R(S130.) >0 THEN G= FUN(CPERM, PERD, PERY);
)JD A4
Ul=13; v
IF PA=NA THEN E=P;
ELSE IF LP~A=NA THEN ==LP; ~
IF EA=NA & R(B133.)A=NA & G=NA THEN 5= £ - K(8183.)3
IF R(B123.)= &K(S81854.) & E~=NA
THEN WLK=E-G;
IF 6 >0 ¢ &> G THEN 0O;

IF R(8183.) > 0 & A3S (E-G-R(S183.)) > 1 & WLK 4= £-6 & WLK > 0

THEN WLK=NAj;

& G7=NA & R(81S%.)”=NA & R(28184.)*=

-6



-

DC K= 6 TO E-13

I# WLK >=0 THEN 003

IF LKLK >= Ul THE

N 003

IF WUMPA=NA THEN A(K)=4;
ELSE A(K)=23

END;
ELSE DO;
IF WOLF A= NA

END;
END
ELSE DC3
WUMP, WCLF=NAS

ACK)=2; ,
END; ‘ ‘
Ul= Ul + 1;
END;
END;
END;
IFS>0E&TD>S THEN DO K= S TO T3
IF ACK)=0 & ACK -1)4=0 & ACK+1)4=0 THEN A(K)=1:
IF ACKD=1 & WORKA= NA THEN WORK = WORK + 13
IF ACK)=4 & wUMPA= NA THEN WUMP = WUMP + 1%
IF ACK)=5 & WOLFA= NA THEN WGLF = WOLF + 1

IF ACK)>=0 THEN WIRK,

IF ACK)>=3 THEN WIRK=

ENDS
RETURNS
WIMP_END:

WORK y WUMPy WCOLFy NW

RETURN;
FUN: PRDOC(M,0,Q);

THEN ACK)=5
ELSE ACK)

Hon
wvi

WCOLFy WUMP=NAS
NA; :

NAS

CSL (My93,Q) FLOAT DECCEDs

IF7 O=NA THEN D=15;:

N= FLEOR((Q-82) % (355 /7) + (M-1) = (137/3) + (0-1) / (365 /52) + HHD 3

IF N < 3 THEN N=S;
RETURN (N)3

END FUN:
END WIMP;
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